ﬂh Examining Digit Place Value Name:

Solve each problem.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)
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Which choice has a 6 with the value of 600 or 6 hundreds?
A. 3,621 B. 376 C. 5,286 D. 62,457

Which choice has a 2 with the value of 2,000 or 2 thousands?
A. 2,347 B. 69,372 C. 69,528 D. 73,241

Which choice has a4 with the value of 40,000 or 4 ten thousands?
A. 47518 B. 562,483 C. 4,931,267 D. 4,876,319

Which choice has a 6 with the value of 60 or 6 tens?
A. 36 B. 596 C. 46 D. 465

Which choice has a4 with the value of 400 or 4 hundreds?
A. 5,924 B. 9,145 C. 2475 D. 4,961

Which choice has a 8 with the value of 8,000 or 8 thousands?
A. 871,645 B. 73,681 C. 34,568 D. 8,592

Which choice has a7 with the value of 70,000 or 7 ten thousands?
A. 712,859 B. 365,789 C. 618,723 D. 72,149

Which choice has a4 with the value of 40 or 4 tens?
A. 45 B. 524 C.24 D. 4,387

Which choice has a 3 with the value of 300 or 3 hundreds?
A. 3,647 B. 183 C. 3,471 D. 396

Which choice has a9 with the value of 9,000 or 9 thousands?
A. 72,968 B. 9,234 C. 6,195 D. 4,597

Which choice has a 6 with the value of 60,000 or 6 ten thousands?
A. 93,286 B. 693,542 C. 259,673 D. 369,271

Which choice has a 8 with the value of 80 or 8 tens?
A. 83 B. 853 C. 812 D. 8,236

Answers

10.
11.

12.
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Answer Key

Solve each problem.

1)

2)

3)

4)
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Which choice has a 6 with the value of 600 or 6 hundreds?
A. 3,621 B. 376 C. 5,286 D. 62,457

Which choice has a 2 with the value of 2,000 or 2 thousands?
A. 2,347 B. 69,372 C. 69,528 D. 73,241

Which choice has a4 with the value of 40,000 or 4 ten thousands?
A. 47518 B. 562,483 C. 4,931,267 D. 4,876,319

Which choice has a 6 with the value of 60 or 6 tens?
A. 36 B. 596 C. 46 D. 465

Which choice has a4 with the value of 400 or 4 hundreds?
A. 5,924 B. 9,145 C. 2475 D. 4,961

Which choice has a 8 with the value of 8,000 or 8 thousands?
A. 871,645 B. 73,681 C. 34,568 D. 8,592

Which choice has a7 with the value of 70,000 or 7 ten thousands?
A. 712,859 B. 365,789 C. 618,723 D. 72,149

Which choice has a4 with the value of 40 or 4 tens?
A. 45 B. 524 C.24 D. 4,387

Which choice has a 3 with the value of 300 or 3 hundreds?
A. 3,647 B. 183 C. 3,471 D. 396

Which choice has a9 with the value of 9,000 or 9 thousands?
A. 72,968 B. 9,234 C. 6,195 D. 4,597

Which choice has a 6 with the value of 60,000 or 6 ten thousands?
A. 93,286 B. 693,542 C. 259,673 D. 369,271

Which choice has a 8 with the value of 80 or 8 tens?
A. 83 B. 853 C. 812 D. 8,236

Answers
1 _ A
2. A
3 A
4 D
s C
6 D
7 D
g. A
9 D
0. B
u_ D
2. A
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